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Question81:-Which among the following is a noun form word?
A:-Cheerfully
B:-Happy
C:-Honesty
D:-Jealous
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Question82:-Put the following events in the right order
(1) My family was with me



) He told us to stay calm.

) As we entered the petshop, his dog started to bark.
) | visited Mr. Gupta's petshop on my way home.

) He has a very good collection of pet animals
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Question83:-Find the correct sentence
A:-Mr. Mike is an European
B:-The captain sent an SOS message
C:-l work in an university
D:-An year has 365 days
Correct Answer:- Option-B

Question84:-""Depth lays his icy hands on kings". Identify the figure of speech used
in this line

A:-Simile

B:-Personification

C:-Metaphor

D:-Oxymoron

Correct Answer:- Option-B
Question85:-Which among the following movements is suitable for a bull?

A:-charge

B:-prance

C:-strut

D:-glide

Correct Answer:- Option-A

Question86:-Fill in the blanks using the appropriate cohesive device from the given
ones.

Solar Energy is clean, it helps you to save money.
A:-However
B:-Otherwise
C:-Moreover
D:-Yet
Correct Answer:- Option-C
Question87:-What is the plural of tooth brush?
A:-Teeth brush



B:-Tooth brushes

C:-Teeth brushes

D:-Tooths brush

Correct Answer:- Option-B
Question88:-Find the correct spelling.

A:-Origami

B:-Origamy

C:-Oregamie

D:-Oregamei

Correct Answer:- Option-A

Question89:-Pick out the suitable question tag.
We often watch TV in the afternoon.

A:-Do we?

B:-Didn't we?

C:-Don't we?

D:-Did we?

Correct Answer:- Option-C
Question90:-Oniomania means

A:-Intense desire to be in open space

B:-Mania for names

C:-Mania for making purchases

D:-Mania for tulips

Correct Answer:- Option-C
Question91:-6§/amc‘)’m - B8 VR

A:-nod
B:-wried
C:-BoBried
D:-e9®0550

Correct Answer:- Option-C
Question92:-93@0 &30303:0 BAG T3

A:-ni8
B:-0oc0 008 BOEON
C:-30309 d)oﬁ%o

D:-3® %37 30020
g



Correct Answer:- Option-C
Question93:-- cDg)d\)CSo (S IATALS gijgodo

A:-ZB B
B:-D3codre
=
C:-a:)éeoi)a
D:-3300¢

Correct Answer:- Option-D
Question94:-sord mﬁoi)go mawgmem@wo IBITCFH0OB Y B)STISIE B30T
(Recurrence) 203300

A:-23930¢ 23@
B:-c;g—c)odj‘;3
C:-&03d>3e
D:-%‘QO‘

Correct Answer:- Option-C
Question95:-3¥NVIHNYY 9 BT T30 (Basic Skill) QRTOFEo 0d5eI)m0?

A:-e3DDI)BO
B:-R5030m00%
C:-2830-200®
D:-3%3 8ewd

Correct Answer:- Option-D
Question96:-39F03 TR O NS AW m)%a

A:-g8303, (process)
B:-df'b%)md (Evaluation)
C:-g8Wne@s (Motivation)
D:-8% (Punishment)

Correct Answer:- Option-A
Question97:-2080 SONROI® R0JPE 6@60135*53 ARENIEON) A W)

A:-e3030% 350@?5) ORI
B:-930 53’0%) SR
C:-Qgoso cdfaeg RI9D M



D:-3ré38 ssag SI0D®
Correct Answer:- Option-C

Question98:-z&303eys 30635?553@ SBIeD &m@ro&» SI9ELICT @srzgs 03593)30?
A:-QIC zon®
(-

B:-302303

C:-20033¢ S 5939
D:-302J0Re

Correct Answer:- Option-C

Question99:-'RReAV Ry 5zgw mdwgp Soaron, Sornosy) NP0 dw%) 59T TIPS
030oR)B0?

A:-ai)éodogo L0, B emaam@cﬁo

B:- #3368 2 3a30a)so

C:-2328¢ Z0DBTY Port=3dbmoss mm%sr AIOITBO
D:-oot3deadd @oééﬁb NROCV82 F0IIRT WTB0IVITYBO

Correct Answer:- Option-A
Question100:-35ETY S6Ee0 FPFIRTREO S WTFH0D

A:-srorinegy B0502%3k
B:-2023 Soorie3oox®
C:-330x)

D:-1veedor &

Correct Answer:- Option-D



